Subtraktion von Dezimalzahlen

1) 9| |4 9/ ,/5 8,6

-[3],3 1,3 20,7
2) 6 ,17 6 ,6 6 7,18

-5 ,56 5,6 2 -1 ,1 4
3) 7/ ,2/2'8 8,947 7,884

-3 ,8092 3,330 -1 ,338
4) 8,818 8,535 8 , 921

-1 ,2209 1,106 2,979

-1 ,468 1,243 -0 ,547
5) 69 ,73 16 ,84 16,82

- 13,23 3,36 - 2,38
6) 51,27 712 94 85 ,7 8

S 2,72 3,48 - 8,58

.28 ,12 43,56 15,2
7)  674,4-2,064 = 34,2 -2,308 =

62,48 - 0,4674 = 146,6 - 45,59 =

664,3 - 0,4935 = 86,7 - 0,5785 =

5,208 - 0,5185 = 78,75-8,9 =

3,949 - 0,814 = 60,06 - 0,547 =

© Sascha Hunsicker 2023

Losung
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8,2
5,9
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1,04
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5,395
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13,48
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4,6895
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